
 
Question 1 

Which of the following is NOT a default authority in Active Directory? 
 
A. Backup Operator 

B. Workstation Operator 

C. Server Operator 

D. Account Operator 

E. Print Operator 

 

Answer 

B. Workstation Operator 

 

Question 2 

From this list, which protocol provides the highest level of security on a wireless network? 
 

A. WPA / TKIP 

B. UMTS 

C. WTLS 

D. WEP 

E. WPA / AES 

 

Answer 

E. WPA / AES 

 

Question 3 

Which of the following is not a valid key length for the AES encryption algorithm? 
 
A. 192 bits 

B. 128 bits 

C. 256 bits 



 
D. 168 bits 

E. All of the above 

 

Answer 

D. 168 bits 

 


